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[1] ¥2PCB 230 2.7 %7.8
B EEIEEY 31 0.2 0.4
Y. 58 0.3 0.8
EIEEEIEEY 68 0.6 1.7
417 F77vBE7 2=/ 48 0.9 2.8
[1-4-112 753 —PCBDH ©3344-T T 7uub ==L (#77) 0.21 0.007 0.018
(14212753 —PCBDH © 34457 hT7mab 7=/ (#81) tr(0.02) 0.01 0.04
[1-5] =% 7mnbe”7 == )Lk 16 0.3 0.8
[1-5-112 753 —PCBD H 5 233444 7nuab 7 =)L (£105) 0.41 0.01 0.03
[1-521 2753 —PCBD H 5234454 7nunt ==L (#114) 0.054 0.008 0.022
[1-5-31 2753 —PCBD H 5 234454 7nub 7=l (#118) 1.1 0.03 0.08
[1-54] 2753 —PCBD H 5 234454 7nub 7 =)L (#123) 0.034 0.009 0.024
[1-5-51 2753 —PCBD H 5 334454 r7nuab 7=/ (#126) tr(0.014) 0.008 0.020
[1-6] ~F V7 oo b7 = =)L 7.0 0.1 0.3
[1-6-11 2753 —PCBD H 5 23344 5~FH 7ot ==,L (#156) 0.06 0.02 0.05
[1-62] 275 F—PCBD H 5 233445 ~FV oo 7= (#157) 0.023 0.008 0.020
[1-6-31 2753 —PCBD H 5 234455 ~FV7oub 7=/ (#167) 0.029 0.008 0.020
[1-6-4] 2753 —PCBD H 5 334455 ~FV7oub 7=/ (#169) nd 0.009 0.024
[17]~7 X 7aabe 7 =) 1.8 0.08 0.20
[1-7-112 77 F—PCBD 5 H 223344 5-~TF X 7ot 7=, (#170) 0.12 0.01 0.03
[1-72]1 277 F—PCBD 5 H 2234455 ~T X a7 ==, (#180) 0.27 0.008 0.020
[1-73] 277 F—PCBD 5 H 2334455 ~F X 7unt 7=, (#189) nd 0.01 0.03
IRE YIRS tr(0.2) 0.1 0.3
[19] /FZ7mnE”7 =)L nd 0.1 0.3
[1-10] T 7B ==L nd 0.06 0.16
[2]HCB (~FH7mrXBY) 150 0.3 0.8
[7-1]cis-7 a VT v~ 130 0.3 0.9
[7-2] trans-7 2 )V T v 140 0.3 1.0
[73]AX v 7 LT 2.3 0.06 0.16
[7-4)cis-/ F 7 v 14 0.05 0.14
[7-5) trans-/ F 7 v )b 110 0.2 0.7
[8] ~7 % 7 v )LJfH 32 0.2 0.6
[8-1] ~T X 7 a) 30 0.08 0.22
[82]cis-~T X I A LTARF T R 23 0.05 0.12
[83]trans ~T X 7 o )LZARF VR nd 0.1 0.3
[11-1] «-HCH 42 0.07 0.17
[11-2] -HCH 6.3 0.1 0.3
[11-3]y-HCH (4 : VT v) 17 0.07 0.18
[11-4] §-HCH 2.1 0.08 0.20
4RV TaEY T 2= =TV (REEP4PHI0ETOHD) 11 %2.7 %75
(14117 77 u®Y 7 = =)L =—7 L 0.6 0.2 0.4
[14-1-1]22'44-7 F 77 0EY 7 =)L —T7 )L (#47) 0.38 0.06 0.15
[142] N 2T aEY 7 =)L —T )L nd 0.2 0.4
[14-2-1122' 44522 7 0ET 7 = =)L =—F )L (#99) tr(0.11) 0.06 0.15
[143]~F YT uEV T 2 =)L T—T LI nd 0.2 0.6
[14-3-1122' 4455 ~F P 70 ET 7 == )L=—F )L (#153) nd 0.1 0.3
[14-32122' 4456 ~F 70 ET 7 == )L=—F )L (#154) nd 0.08 0.21
[14-4] ~T X TaEY 7 2=t —7 LI nd 0.4 1.1
[14-4-1122'33'4,56-~7 X707 = =)L =—7F )L (#175) nd 0.5 1.4
[14-4-2122'344,56-~7 X707 = =)L T—7 )L (#183) nd 1.0 2.7
(1451427 Z# 7 0EY 7 = =)L =—T LM tr(0.2) 0.2 0.6
[146] /7 0EY 7 = =)L =—F LI tr(1.2) 0.5 1.4
[14-71 T H7BET T == )L2—TF )L 9 1 3
[U5] VT NF Ay 2o A& VB (PFOS) 1.8 0.2 0.6
[16] V7 LA a2 & (PFOA) 9.6 0.4 1.3
[17] S % 7nuxX P 110 0.2 0.5
(18] = RA/L 77 A 13 %0.6 % 1.6
[18-1]a-T > RA/LT7 7 A 12 0.3 0.8
[182]f-= > RANLT 7 VI 0.8 0.3 0.8




FR28FEEE=L) T RAEDHERST —42 XK
AT G E WEME QRESHD et R RAE | E & T BRAE

[19]12,5,69,10-~F %7 uEL 7 u RFH UM 1.8 %0.3 %0.9
[19-1]2-1,2,5,6,9,10~FF T aE7u RFh v 1.4 0.1 0.3
[19-2]8-1,2,5,69,10-~F % T uE 71 KFh 0.3 0.1 0.3
[19-3]7-1,2,5,6,9,10~FF T aE7u RFh v nd 0.1 0.3
[20] AR D k7 2 L~ 310 %0.28 %0.79
[20-1] £/ HifbF 72 LV B 160 0.03 0.08
[20-2] VHifbF 72 LV B 110 0.02 0.06
[20:3] S UMb F 72 LB 19 0.02 0.05
[20-4] 7 Rk 7 X LU 18 0.1 0.3
[20-5] X 2k 7 2 LU 3.5 0.06 0.15
[20-6] ~F Yk 7 ¥ L U 0.25 0.01 0.04
[20-7] ~7 2k F 7 X LU nd 0.02 0.05
[20-8] & 27 Z Wb F 7 2 L nd 0.02 0.06
Ri]~F¥H$r7oprH13-Y 950 | 1,100 [ 1,000 20 60
[22-1]Xv4%7maa7=)—) 10 0.2 0.5
[222] X4 Zuuy=)— 44 0.4 1.0
23] EsEFN T 7« U 2,900 %640 1,700
[23-1] LT o HE 490 110 290
232 fiFby T U H 2,000 240 610
233 FL R T 8 tr(180) 170 430
2341 R Y T h B tr(210) 120 320
[24] ¥ =R L nd 0.2 0.5
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